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(Multiple Choice Type Question) 1 x 60=60

Choose the correct alternative from the following :

(1) Letterhead is aligned always at the

a) centre b) left
¢) down d) right

(2) The decodes the message in communication process.
a) receiver : b) sender
c) listener d) reflector

(3) He was born January 10. '
a) through b) in

k c)on d) off
(4) In an e-mail box, ‘BCC’ in a BCC bar stands for .
. a) Block Carbon Copy b) Blank Carbon Copy

¢) Blank Carbon Copy d) Blind Carbon Copy

(5) The bus ride is free! You buy a ticket,
a) must b) doesn’t
¢) don’t have to d) need to

(6) ‘But at Deoli there was a new .’ (The Night Train at Deoli)
a) grandmother b) tea-stall owner
c) mysterious girl d) station-master

(7) The antonym of 'Liberty is .
a) Freedom b) Captivity
c) Fraternity d) Sovereign
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(8) His father prevented him

to Chennai for a job.

a) went b) goes
¢) from going d) return
® is a powerful informal communication within an organization.
a) upward b) grapevine
¢) lateral d) horizontal Bray LiByyy, .
(10) The prefix ‘intra-" in intrapersonal communication means — 85,-838’:%; iniy,
a) without b) within ' Kolkayy 0':”"”'
¢) Face-to-face d) Indirect Y125
(11) That film on TV is by the children.
a) gone to be seen b) going to be seeing
¢) gone to be see d) going to be seen
(12) ___ communication has an extremely wide reach.
a) oral b) verbal
¢) written d) formal
(13) Fu}d t)he error: If I had known (i)/ this yesterday(ii)/ I will have helped him (iii)/ No err
or (iv
a) (i) b) (i)
©) (iii) d) (iv)
(14) Which is a positive posture?
a) Standing erect b) Folding arms on chest
¢) Leaning backward d) Looking around

(15) The full form of a Memo is -
a) Memmorandom

b) Memorundom

¢) Memorandum d) Memerundom
(16) An Agenda comes with a
a) Note b) Letter
¢) Memo d) Notice
(17) I have been looking for this document ayear.
a) Since b) for
c) from d) until
(18) Where to when you overtook me yesterday?
a) was you driving b) were you driving
¢) have been driving d) ad been to drive
(19) I have him of a job in our company.
a) Assured b) sured
¢) ensured d) sirified
(20) A typical ending salutation to an official letter is "Yours y
a) faithfully b) truly
¢) humbly d) sincerely

(21) The writer of the story, "The Night Train atDeoli", is

a) Rudolf Bond

b) James Bond
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¢) Nora Bond
(22) A sound that cannot be heard is

a) Incorrigible
¢) inaudible

d) Ruskin Bond

Bf‘,ﬂu,? ( ’Rr"‘l."s v

b) illegible B W e
d) invincible $5a; .

(23) is not a negative gesture,
a) Biting nails b) Playing with hair
¢) Chewing pens d) Handshaking
(24) Oral communication is generally not .
a) cost effective b) repetitive
¢) instantly used d) recorded
(25) This problem by your brother yesterday.
a) had solved b) will be solved
¢) was solved d) did not solve
(26) This building very old.
a)ls b) has
c) are d) were
(27) Audio-visual is a method of communication.
a) Grapevine b) Verbal
¢) Non-verbal d) Informa
(28) A government by a king or queen is called a .
a) Monarchy b) Democracy
c) Plutocracy d) Autocracy
(29) An Application Letter is a type of communication.
a) Informal b) Personal
¢) too personal d) business
30) is a quality of a good business report.
a) Length b) Language
c) Font size d) Good Recommendations
(31) The full form of CV is
a) Curriculum Vitae b) CarricalumVitea
¢) CuriculumVitea d) CurricalumVitie

(32) Choose the correct passive form of the following sentence: Her mother knows English.

a) English has been known by her mother.
c) English is known by her mother.
(33) The correct sentence is:
a) Are you drink tea?
¢) Drink you tea?

b) English was known by her mother.
d) English is not known by her mother.

b) Do you drink tea?
d) Tea you drink?

(34) Their knowledge of European languages are far beyond the common. This sentence has

an error. The correct form of the sentence is:
a) Their knowledges of European languages are

far beyond the common.

¢) Their knowledge of European language are f

ar beyond the common.

. Ylvpey
' fﬁ._l e, "i:v

b) Their knowledge of European languages is f

ar beyond the common.

d) They are knowledge of European languages

are far beyond the common.
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the lost time. If this sentence is rewritten as 4 ¢
d sentence will be
b) He must work very hard and make ,,

(35) He must work very hard to make up for
ompound sentence, the correct compoun

the lost fi
a) :-1{1:1 :lust work very hard make up for Gastlind. P for th,
¢) He must work very hard in make up for the | d) He wor ks very hard make up for the lost tip,
ost time. o
(36) Choose the correct passive form of the following sentence: His brother does not play cr
icket.

a) Cricket has not been play by his brother. b) Cricket has not been play by his brother,
¢) Cricket is not played by his brother. d) Cricket does not been play by his brother,
(37) We saw the rain coming on and we took shelter under a tree. If this sentence is rewritte
n as a simple sentence, the correct simple sentence will be:
a) Seeing the rain coming on, we took shelteru  b) When we sce the rain coming on, we took g,

nder a tree. elter under a tree.
¢) We, seeing the rain coming on, we took shelt  d) We took shelter under a tree and seeing the
er under a tree. ain coming on.
(38) The correct sentence is
a) Were you drink milk? b) Did you drink milk? { l5sekion
¢) Drank you milk? d) Milk you drank? AINWErE Unives,
(39) Her book is -—-—the table. Fill in the blank. wanasal, Kefiata 7001,
a) at b) on
c)up d) above
(40) Gold and silver is precious metals. This sentence has an error. The correct form of the s
entence is:
a) Gold and silver is precious metal b) Golds and silvers are precious metals.
¢) Gold and silver are precious metals d) Gold and silver will precious metals
(41) Choose the correct passive form of the following sentence: Does she like John?
a) Does John liked by her? b) Does John likes by her?
¢) Is John liked by her? d) Is John likes by her?
(42) A large building with an extensive floor area, typically for housing aircraft is
a) Hangar b) Archive
¢) Herbarium d) Almirah
(43) “The killing of one's father” is ; '
a) Patricide b) Invisible
c) Pinnaccessible d) Incombustible
(44) The novelist and poet are dead. This sentence has an error. The correct form of the sent
ence is:
a) The novelist and poet is dead. b) The novelist and poet will dead.
c) The novelist and poet are dead. d) The novelist and poet is die.

(45) Choose the correct passive form of the following sentence: Does this tiger not kill me
n?

a) Do men not kill this tiger? b) Does this tiger not killed by men?
c) Are men not killed by this tiger? d) Is this tiger not killed by men?

(46) A book or set of books giving infonnat@on on many subjects or on many aspects of one
subject and typically arranged alphabetically is called a/an
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a) Anthology

¢) Dictionary
(47) The correct sentence is

a) He has been sung from 7am.

¢) He has been singing for7am,
(48) A hater of womankind is called a

b) Cyclostyle
d) Encyclopedia

b) He has been singing since 7am.
d) He is singing since 7am.,

a) Misanthrope b) Misogynist i ',:ﬁh"
¢) Mesmerise d) Megalomaniac "
(49) ;'(l,']:’e President, with his friends, are to be present.! Which part of the sentence has an er
r
a) The President b) with his friends ‘
c) are d) to be present
(50) Choose the correct passive form of the following sentence: Jill was making a kite.
a) Jill was being made a kite. b) A kite was making by Jill.
¢) A kite was being made by Jill. d) Jill was been making a kite.
(51) A Circular is a document of communication.
a) External b) Internal
¢) Personal d) none of these
(52) s the first enemy of communication.
a) Clarity b) Sender
c) Receiver d) Noise
(53)- is necessary in Communication.
a) Clarity b) Noise
¢) Lack of clarity d) Grammatical mistakes
(54) Audio-visual is a method of communication.
a) poor b) good
¢) weak d) bad
(55) Which one is a negative act?
a) Sitting straight b) Handshake
¢) Speaking confidently d) Chewing pens
(56) The word 'communication' is derived from which of the following expression:
a) communion b) communicare
¢) common d) communist
(57) The word ‘communication'’ is derived from the expression 'communicare’
a) Latin b) German
¢) French d) Italian
(58) Which of the following is an objective of communication?
a) to eat b) to convey information
¢) to drink d) to move
(59) The title of the story is
a) The Night Train to Deoli b) The Night Train at Deoli
¢) The Night Train for Deoli d) The Night Train by Deoli
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(60) Deoli was a/an
a) small station
¢) famous station

b) big station
d) abandoned station

.



